
 

 

 Q. no 1 : Choose the best answer:     
1. 1. A bond formed between two non metals is expected to be         

a) Covalent  کوويلينٹ   b) Ionic  ونک آئي   c) Coordinate covalent  کوويلنٹ کوآرڈينيٹ d) metallic  مٹيلک 
2. A bond pair in covalent molecules usually has ….electron
a) 1   b) 2   c) 3     d) 4  
3. Which of the following is an electron deficient    
a) NH3    b) BF3    c) N2      d) O2  
4.  The number of electrons in the valance shell of noble gases       
a) 8   b) 7   c) 6      d) 17  
5. Which molecule has triple covalent bond   
a) O2    b) C2H4   c) N2      d) NH3  
Q. no 2: Give short answer  ۔  

i. Why does sodium lose an electron and attain +1 charge.                                                                                          
  

 
iii. Why  water has  polar covalent bon    
iv. Why do atoms react with each othe    
v. Define triple covalent bond with example۔   

Q. no 3 Discuss ionic bond formation                                        ۔                    


